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Review for PC #2 WS

1) m£CRO = 28° and m£SRQ = 155°.
Find m£SRC.
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3) Find x it msGHI = 22x + 3
msGHM = 135°, and msMHI = 2x + 8,
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5) Find x if m£ABYV = 24°,
msVBC =12x + 13,
and mzZABC = 16x - 7.
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7) Find msSTU it msGTU = 75°,
msSTG = 8x — 4, and msSTU = 21x + 6.
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2) m£ORS = 95° and mz QRW = 40°.
Find m£WRS.
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4 mseTUZ =Tx+ 19, msZUV = 31°,
and mz2TUV = 11x + 6. Find x.
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6) Find mzCDJif m£JDE = 49x, 0

m/CDE = 115°, and m£CDJ = 65x + 1.
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8) Find ms/STH if ms HTU = 160°,
msSTH = 2x, and mzSTU = 17x + 10,
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Name the relationship: complementary, linear pair, vertical, or adjacent.
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Find the value of x.
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Each figure shows a triangle with one of its angle bisectors.

17) Find x if mz1 =20x - 1 and 18) ms2=21x+1and ms1 =20x + 3.
ms/VTU = 38x. Find x.
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Plot each point. Find the area and perimeter of each. Round to the nearest tenth.
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20) E(-4,-10) F(-4,-2) G(4,0)
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Plot the points. Then find the area and perimeter of each figure. Round to the nearest tenth.

21) A(0, 3), B(4, 3), C(4, -3), and D(-4, -3) 22) P(3,5), Q(-2,4), R(-3, -5) and S(4, -3)
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